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2.If f(x) < O (negative) the graph is
concave down.
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Ex. Where is f(x) = x>-3x%+4x-5 concave up
and concave down? What are the
inflection points?
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Ex. Where is the function concave up
and concave down? What are the
inflection points?

Ex. y= x
x2+1
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5.3 Concavity and Points of Inflection

Concave Up

- function lies above
tangents
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Concave Down

- function lies below
all tangents




image3.png




image4.png
Points of Inflection

1) A point on the curve where the function
changes from CU to CD or CD to CU.
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2) Where f (x)=0 or undefined
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How to Find Intervals of Concavity
(Test for Concavity)

1.If f'(x) > O (positive) the graph is
concave up.




